+p™) [1/GeV]

pT

1/0 do/d(

=
<
[N

=
o
R

|
o
@

107

Ratio to ATLAS

[EEY

0.5

13000 GeV pp tt

I I I ALY N L N N I L B B B
= H4 (ATLAS dileptonic ttbar) =
- m  ATLAS :
| —&— Pythia 8.308 default _
| ---¥-- Pythia 8.308 tune-AU2 _

-- < -- Pythia 8.308 tune-AU2lox

— -2~ Pythia 8.308 tune-AUZloxx —
— —— Pythia 8.308 tune-AU2m -
| | | | ' | | | | | | | | | | | | | |—
:I T T | T T T | T T T T | T T T T |:

1 1 " 1 " | " 1 1 " 1 " | " 1 1 1 " 1 " | " 1 " 1 " 1 " 1 " |
100 200 300 400

Dilepton pi +p [GeV]

Rivet 3.1.10, = 2.1M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


